Economics 100A
Fall 2001
Prof. Daniel McFadden

Quiz #2

October 17, 2001
(by: Peter Adams)

Name:

SID #:

Section: 115 116

Instructions

You have 55 minutes to complete the exam.
Mark only on the exam.
Do not separate the pages.
Show all work. .
Partial credit will be awarded where applicable.



1 Endowments (10 minutes)

Problem 1 Consider the standard labor supply problem, where C'=weekly con-
sumption, L=weekly hours of leisure, w=hourly wage, p=price of consumption,
m=weekly non-wage income, and L=weekly endowment of leisure/work hours.

1. If m =80, p=1, L = 20, w = 2, write the budget constraint?

2. Suppose L is NOT the maximum amount of leisure (L) you can consume,
rather you can ”purchase” additional hours of leisure with non-wage in-
come. Graph the budget constraint from (a) with leisure (L) on the
2 —axis and consumption (C) on the y — azis under the assumption that
you are NOT limited to a maximum of L = L.

(a)

(b)

(c)

Suppose you are a NET BUYER of leisure. Indicate on your graph
some optimal bundle (L*,C*) and the associated indifference curve
(Up) consistent with you being a NET BUYER of leisure. Also
indicate on your graph the endowment (L, m), the slope of the budget
line, and the intercepts. Note: (L*,C*) will NOT be numerical
values.

If the wage increases (w 1) and you REMAIN a NET BUYER of
leisure, what can you say, if anything, about your new level of utility
(Uy) relative to (Up). Show this on your graph by labelling a new
optimal bundle (L**, C**) and the associated indifference curve (U;).

Can you say, DEFINITIVELY, whether remaining a NET BUYER
after the wage increase results in MORE or LESS consumption of
leisure (L)?
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2 Intertemporal Choice (& minutes)

Problem 2 Sigpage yor e for 3 periada, Yoot sonswnplion in esck period
5 (2q, fu, ) and your income in 2ack period 83 {7, mg, my).

1. Wiice an expressico for the (presso; velue or future value) intertempo-
ral budret constraint, Assume: the intorest rete iy CONSTANT betwern
periods st rube [r),

2. Write un exprission fur the (present valee ar future valug) inestem ol
budget construint wlien she irtrnst rate i3 NOT rogstant hstween prerioil.
Asgsurnt thy ioterent rale between perind 1 and period 2 iz 00) and the
imberest rate Betwenn (ericd 2 anl perianl 3 iz (1),
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3 TUncertainty (5 minutes)

Prablam 3 Suppose poit face the folloutivg patidle o nttery. You can corn T
af 8 psesitie gradea ﬂ:‘; this cloas: an "A™, o "ﬁ:“, o an "F7, wille e follautng
probabilities: x4 = o7 =15 &g T = o Yoer cuwrenl weelh (w) s
0D, I you iszesve an AC, gon GAIN feg. [ pap pou) 8500, Lowever, 4
pau get on “F7, you LOSE (e.g. s oy o) §300. I you recsive ¢ "C¥, you
DG NOT GAIN OR LOSE anything.  4aswae your ulilily funchion, defined
over wealth, & U5 (1) = e

1. What iz your expected wtility (EF)?  [Hiw be suze wo valondics youz
total wealtk in each “stace”

2. What is the certainty sguivelent level of wealth {4”)?
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4 Elasticity of Demand (10 minutes)

Problem 4 Consider the following merbet demand functian: Q(pl = Dip) =
108 — p*,
1. Find sn sxpressivn for e price dlastivity of decsmad ¢ (p) 09 o fanetion of
2. A what prioe level {p) is market derand UNIT ELASTIC?

3. Hp =13, what is the price elasticily of ilernand, e} or [<]? Is it ELASTIC,
UNTIT ELASTIC, ar INELASTIC?
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5 Equilibrium Analysis (256 minutes)

Probilem 5 Cousider the following markel demand funclion, Dp] - 20 - :-Lp'
ana marke! yupply function, 5{p; =p - 10

1. Solwe for the KO TAX equilibrium price snd queokity (p*, 717
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2. Suppose the governoeat jrwpuses s AD VALOREM TAX (r} of IMN%.
In other worde, the sd velorem toxx rute iy v = 1. The goverarnent 38
affectively doubling the prce, Iind the oew equiliboivm wulee the ad
valoeem tax? [Hiat: sshen aolving for the prive under she ad salncem tax,
recal] that an ad valorem twx wifouts prive by (1 = vip = {p+ 7p)]
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{a) What is the now vquilibrivs quantity ()7
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(b) What ix the efcctive prias faoeml by supptiera (£5)7 T T
lc) What ix the pric foux] hy consunwss (p)7 /,-""" : ™.
{d) Vhat i th soe of ths bax (757 e “\\
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3. What is the CHANGE In Qonzumer Surplus (ACS)?
4. What is the CHANGE in Praducer Surplua {APS)T
5. What is che Deadwetyht Tors (DW L) from che tax”

6. Who buars the greslec borden of the tax revanue (], conyuners or pn>-
duccrs? Whik 38 the vatus of 2ach?
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7. Graph 1he two equilibris discussed wbove, lubclling the inlercepts and
relivanl prices and quantides. LADBEL or IDENTIFY all nf e areaz
untler 1 )i demand curve ead abave the vupply curve acording lo llowing

criterine A=CF after taz, B=government mweenve, C=DWL, D=FF cftsr
frr?




2.1 Eatra Credit

#. Ruppose, Instead of the ad wlenen bax, Hie groeeopanent infaoess 5 (QJTTAN-
TITY FAX (] such that ¢he oquillboivmu lewd of Qulul onder the g an-
ey tax is ¢ = 12, Solva for the nowr equilibrinen and gove valuez dor Lhe
fotlowirg,

fa) What ia che cffoctive prie: fared Ly awppliers (05
(b} What is che price faced by cortumers (55}

() VT is the sise of Lhe quamicy t=x (b= 7% —§7)7
fel] How rooch Governent Fevenas (H) @ raisad?

() Whne iz the CHANGE u DWL (ADW L] in switching from the AD
VALOREM tax vo the QUANTITY raxV
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